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•  A warmer world pumps more 
water vapor into the atmosphere 
(with the ocean an enormous 
holding tank for the water): 
increased hydrological cycle"

•  Impacts are recorded in ocean 
salinity, potential for (indirect) 
feedbacks on climate through 
changed ocean stratification"

Dry areas become drier"
Wet areas become wetter"
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-Fatm = Focean = V(Ssouth – Snorth)/So = V∆S/So   "
where So is an arbitrary reference salinity and V is the oceanʼs volume 
transport exchange between reservoirs."
Therefore ∆S = FSo / V, so if F is set by the atmosphere and V is set externally 
by the flow, the salinity difference can be calculated. (Of course V can depend 
on ∆S, as in the Stommel thermohaline oscillator.)"

•      For larger atmospheric F transport, get larger ∆S"
•     For larger V ocean transport exchange, get smaller ∆S"
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<*,$+.D'?*,)*@)@.+$"5'1+.)

Mass: F  = ! oVo - !i Vi = (R + AP) - AE 
Salt: " = Vo ! o So  - Vi !i Si = 0  (salt is conserved) 
Salt divided by an arbitrary constant, about equal to mean 

salinity: 
" /Sm  = Vo ! o So /Sm - Vi !i Si /Sm = 0 

Subtract F - " /Sm  = F - 0 
F - " /Sm = !i Vi (1- Si /Sm ) - ! o Vo (1 - So / Sm)  

Assume !i Vi ~ ! o Vo  = !  V given error in observations, so 

F ~ ! V (So / Sm - Si /Sm ) 
So the freshwater input calculated from the difference in 

salinity between inflow and outflow equals the net 
precipitation, evaporation, runoff#
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where E = Evaporation, P = Precipitation, R= Runoff"
S = salinity         So = arbitrary reference salinity "
and Area integral is through the sides of a closed box"

Chose reference salinity of 34.9 for my global calculation (the value 
doesnʼt matter, as long as itʼs the same for all components of 
calculation, all sections, all Ekman, etc.)"

  

! = E " P " R = #vdA$$

0 = #vsdA$$

! = E " P " R = #v( 1 " s
so

)dA$$

q)
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42,)&'(&2('?*,6)4)o)V∆S/So "
For F = 0.3 Sv and ∆S= 35.2-34.6=0.6, then V =  17 Sv )



QY'7/(+)*@)"*5)2//+.)*&+',)@.+$"5'1+.)1.',$/*.1)5*.P$6)
a+$1+.,)X*2,:'.#)&2..+,1)&'..%+$)$'(1#)5'1+.)$*21"5'.:)@.*7)+D'/*.'?*,).+-%*,)',:)
+92'1*.5'.:)-#.+)]*5)&'..%+$)@.+$"+.)5'1+.)X'&P)

4*.)1"+)&'(&2('?*,6)D*(27+)1.',$/*.1$)CFE=)X'(',&+8)Z2$1)'$)@*.)"+'1)1.',$/*.1$)l)5+)
'.+)(**P%,-)'1)1"+)$'(%,%1#):%`+.+,&+)X+15++,),*.1"5'.:)',:)$*21"5'.:)]*5V)="+)D+.#)
$7'(()Mp)LVK)EDN)@.+$"5'1+.)1.',$/*.1$)*@)&*2.$+).+/.+$+,1)')D*(27+)%7X'(',&+8)X21)
1"+#)'.+)5+(()5%1"%,)1"+)2,&+.1'%,1#)*@)1"+)D*(27+)1.',$/*.1)&'(&2('?*,8)5"%&")5+)
'//.*Y%7'1+)'$)X+%,-)+Y'&1(#)X'(',&+:V)

4.+$"5'1+.)1.',$/*.16)BX$+.D+:)@.+$"5'1+.)1.',$/*.1)X#)1"+)*&+',)

•  4*.)1"+)-#.+$6)7'$$)X'(',&+:)M-#.+)1.',$/*.1)'X*D+)7'Y%727)$2X:2&?*,)
:+,$%1#)/(2$)QP7',)X'(',&+:)X#)/*.?*,)*@)5+$1+.,)X*2,:'.#)&2..+,1N) ='((+#)MKLLiN)

G+&*7/*$+)4a)1.',$/*.1$)%,1*)
)MIN)2//+.)*&+',)-#.+)
)MKN)1".*2-"]*5)M;,:*,+$%',)
=".*2-"]*5)',:)^+.%,-)E1.'%1N)
)MjN):++/+.)*D+.12.,%,-)&*7/*,+,1)



4.+$"5'1+.)1.',$/*.16)BX$+.D+:)@.+$"5'1+.)1.',$/*.1)X#)1"+)*&+',)

•  B.:+.)*@)LVI)1*)LVK)ED))@*.)1"+$+)M7*$1(#N)2//+.)*&+',)&*7/*,+,1$8)
5"%&")'.+)'`+&1+:):%.+&1(#)X#)%,/21)]2Y+$)@.*7)QU!U\)

[+1)^+.%,-)E1.'%1)
%7/'&16)p)LVI)ED)

[+1);=46)*.:+.)
LVK)ED)@*.)X*1")
!'&%_&)',:)
;,:%',)

[+1),*.1"5'.:)
*21)*@)E*21"+.,)
B&+',)%$)LVOI)ED)

) )F//+.)*&+',)',:)1".*2-"]*5)@.+$"5'1+.)1.',$/*.1$)

='((+#)MKLLiN)



4.+$"5'1+.)1.',$/*.16)BX$+.D+:)@.+$"5'1+.)1.',$/*.1)X#)1"+)*&+',)

•  <*7/21+)c*,'((#U
'D+.'-+:)*D+.12.,%,-)
%,)%$*/#&,'()('#+.$)

•  QY'7/(+6)[*.1")
A1(',?&)'1)K3)u[)

v E&"+7'?&)X'$+:)*,)
&'(&2('1+:)1.',$/*.1$)
1".*2-")1"+)$+&?*,$)
v 4.+$"5'1+.)1.',$/*.1)
D'(2+$)'.+):%.+&1(#)
&'(&2('1+:)

C+.%:%*,'()*D+.12.,%,-)&*7/*,+,1)*@)4a)1.',$/*.1)



BX$+.D+:)@.+$"5'1+.)1.',$/*.1)X#)1"+)*&+',)

ULVJ) ULVI)

ULVLK) ULVL3) ULVLj)

ULVLO)

;,1+.7+:%'1+)',:):++/)*D+.12.,%,-)&*7/*,+,1$)

='((+#)MKLLiN)

[*.1"+.,)"+7%$/"+.+6)[AGa)',:)[!;a)@*.7'?*,):*7%,'1+)+92'1*.5'.:)4a)1.',$/*.1)
E*21"+.,)"+7%$/"+.+6):++/)1.',$@*.7'?*,$)MAA^a)@*.7'?*,8)[AGaT;GaT!GaN)/.*D%:+)
*,(#)')5+'P)4a)1.',$/*.1)M'($*)5+'P)"+'1)1.',$/*.1N)



BX$+.D+:)@.+$"5'1+.)1.',$/*.1)X#)1"+)*&+',6)[fUEf)'$#77+1.#)
•  [*.1"+.,)f+7%$/"+.+)+Y/*.1$)@.+$"5'1+.)$*21"5'.:)1".*2-")[AGa)',:)[!;a)@*.7'?*,)

MLVJ)',:)LVI)EDN)
•  E*21"+.,)f+7%$/"+.+)+Y/*.1$)@.+$"5'1+.),*.1"5'.:)1".*2-")2//+.)*&+',)-#.+$)MLVO)EDN8)

M*.:+.)*@)7'-,%12:+)(+$$)1".*2-")%,1+.7+:%'1+)',:):++/)5'1+.)@*.7'?*,N)

•  a"#6)G.'P+)!'$$'-+)%,"%X%1$)1.',$/*.1)*@)$'(1#8)5'.7)$2.@'&+)5'1+.$)1*)A,1'.&?&')Ma'..+,8)
IhiLe)=*--5+%(+.)',:)E'72+($8)IhhJNV)))

•  ="2$)A,1'.&?&)$2.@'&+)5'1+.$)'.+)2/5+((+:):++/)5'1+.$8)'(.+':#)&*(:V)="+#)&',)*,(#)X+)
@.+$"+,+:)')$7'(()'7*2,1)',:)$?(()X+)'X(+)1*)$%,P)1*)1"+)X*S*7)M@.+$"+,%,-):2+)1*),+1)QU!U
\)',:)$7'(()$'(1)'::%?*,)1".*2-")X.%,+).+Z+&?*,NV)

•  f+,&+8)$2.@'&+)@.+$"5'1+.)%,/21)%,)1"+)A,1'.&?&)Z2$1)]*'1$)%,)$2.@'&+)('#+.8)&',g1)X+&*7+)
:+,$+)+,*2-")1*)$%,P)

F//+.)*&+',)/'1"5'#$) ;,1+.7+:%'1+)',:):++/))/'1"5'#$)

ULVJ) ULVI)

ULVLK) ULVL3) ULVLj)

ULVLO)

LVK) LVK) LVK)

LVK) ULVI)



BX$+.D+:)@.+$"5'1+.)1.',$/*.1)X#)1"+)*&+',)

•  a"'1)'X*21)1"+)$7'((+.)*.:+.)@.+$"5'1+.)1.',$/*.1$)M*.:+.)
LVLI)EDNb)

•  QD+,)1"*2-")$7'((8)1"+)$%-,$)'.+).*X2$1)M'&&2.'1+(#).+]+&1)1"+)
:%`+.+,&+)%,)$'(%,%1#)X+15++,)1"+)%,]*5)',:)*2w(*5)5'1+.$N)

•  ="+$+)$7'(()4a)1.',$/*.1$)'.+)&.%?&'()@*.):++/)5'1+.)$'(%,%1#)
:%`+.+,&+$8)5"%&")2(?7'1+(#):+1+.7%,+)-(*X'():%$1.%X2?*,)*@)
:++/)5'1+.)@*.7'?*,)

F/5+((%,-T:%`2$%*,)

G+,$+)5'1+.)
@*.7'?*,)

0*&'?*,)*@)('.-+)D*(27+)1.',$@*.7'?*,)
5%1")$7'(()4a)1.',$/*.1$)
M[AGa),*1)$"*5,)X+&'2$+)%1)"'$)('.-+)4a)
1.',$/*.1N)



BX$+.D+:)@.+$"5'1+.)1.',$/*.1)X#)1"+)*&+',)

•  ;,1+.X'$%,):%`+.+,&+$)%,)$'(%,%1#)'($*).+92%.+)*&+',)@.+$"5'1+.)1.',$/*.1$)1*)X'(',&+)1"+7)
•  ="+$+)'.+)'(7*$1)+,?.+(#)2//+.)*&+',T1"+.7*&(%,+)/.*&+$$+$)U).+]+&1+:)%,)*X$+.D+:)E)

&"',-+$)M&(%7'1+)&"',-+$)l)^*#+.)+1)'(V8)KLLJN)1"'1)'.+)7*$1(#)%,)1"+)2//+.)*&+',)
•  ="+.+)%$),*)$%,-(+):*7%,',1)/.*&+$$)%,)',#)X'$%,6)72(?/(+)/'1"5'#$)72$1)X+)+D'(2'1+:T

7*,%1*.+:)1*)%,1+./.+1)&"',-+$)

Bering Strait -0.1 out 
ITF/S.Pac.gyre -0.2 out 

S.O. ST gyre 0.2 in 

Bering Strait 0.1 in 
Agulhas upper -0.05 out 

AAIW 0.06 in 

S.O.ST gyre 0.2 in 

ITF/Agulhas 0.2 in 
S.O. ST gyre 0.2 in 
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